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QUESTION 1

What is the purpose of exit criteria? 

A. To define when a test level is complete. 

B. To determine when a test has completed. 

C. To identify when a software system should be retired. 

D. To determine whether a test has passed. 

Correct Answer: A 

 

QUESTION 2

Exhibit: 

Which of the benefits displayed in the exhibit are MOST likely to be achieved by using test tools? 

A. ii and iv 

B. ii and iii 

C. i and iv 

D. i and iii 

Correct Answer: C 

 

QUESTION 3

Which of the following defines the expected results of a test? 

A. Test case specification. 

B. Test design specification. 

C. Test procedure specification. 

D. Test results. 

Correct Answer: A 
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QUESTION 4

Which of the following is TRUE? 

A. Confirmation testing is testing fixes to a set of defects and Regression testing is testing to establish whether any
defects have been introduced as a result of changes. 

B. Confirmation testing is testing to establish whether any defects have been introduced as a result of changes and
Regression testing is testing fixes to a set of defects. 

C. Confirmation testing and Regression testing are both testing to establish whether any defects have been introduced
as a result of changes 

D. Confirmation testing and Regression testing are both testing fixes to a set of defects. 

Correct Answer: A 

 

 

QUESTION 5

Given the following decision table: 

Which of the following test cases and expected results is VALID? 

A. 23 year old in insurance class A Premium is 90 and excess is 2,500. 

B. 51 year old in insurance class C Premium is 70 and excess is 500. 

C. 31 year old in insurance class B Premium is 90 and excess is 2,500. 

D. 43 year old in insurance class C Premium is 70 and excess is 1,000. 

Correct Answer: A 
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